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PART

For each of the following questions from 1 to 30, four options are given. One of
them is the correct answer. Make your choice (1, 2, 3 or 4). Shade the correct
oval (1, 2, 3 or 4) on the Opflical Answer Sheet.

(30 x 2 marks)

1 Which of therfajlowing classifications of the animals below is correct?
A: Platypus
8: Guppy
C:  Whale .
D: Do!ph_inj_
"“ﬁﬁémmal Fish Lay Eggs
)] “Aonly B, C and D only B only
- A{2) A and D only B and C only C-and D<only
) _(3) A C ahd D only B oniy A and B only
(4) A, C and D only B only A only
2 The table below shows the properties of three types of materials, A, B and C.
. Material
Propert
roperties A B C
Hard v x x
Flexible x Y v
- Strong - v v x

Based on the information above, which one of the following would A, B and C

most likely be?

- A B c
(1) Metal ruler Cotton thread i Fishing line
@) Fishing line Cotton thread Metal ruler
3) Fishing line Metal ruler Cotion thread
(4) Metal ruler Fishing line Cotton thread




Sara looked at the picture shown below and made four statements A, B C
goat.

and D about the

Al The goat is ealing grass.

The goat has escaped from its owner.
The goatis standing on the grass.

‘Someone has bréught' the goat there.

Based on her observation only, which of the stalemenl(s) is/are true or not

posstble to teli”?

True Not possible to tell
(1) - C only A, B and D only
(2) A and D only B and C only
(3) B, C and D only A only
(4) A BCandD -




The classification table below groups some things according o their
characteristics/properties.

L
Non-living Living
i 1
[ i [ !
LNever alive Once A!i,ve“ Plants Animals
| A B C D
Which of the following correctly identifies A, B, C and D?
A B c o |

(1) - fron nail Book Balsam Venus flytrap
(2) Plastic ruler Book Venus flytrap Snail
(3) | Plastic ruler Wobden chair Mushroom Snail
(4) Iron nail Wooden chair Moss Venus flytrap

Which of the following are likely reasons for a drink stall owner to sell drinks

in plastic cups?

o0wx

(1) AandC only
(2) AandD only
(3) BandConly
{4) BandD only

Plastic cup is waterproof.

Plastic cup scratches easily.
Plastic cup does not break easily.
Plastic cup is flexible.



The pie chart below shows the number of different types of plants in

percentages in two schools, A and B.

Which of his following statements aretrue?

(1) D only

(2) BandDonly
(3) A,BandConly
(4) A,B,CandD

Pong Pong Others
Tree
5% Bird’ s nest °% Canna
Bird s nest Canna fern 30%
fern 35%
sen 25%
Mango Tree
10% Hibiscus Water
Water 5% Mango Tree Hyacinth
Hvacinth 25% 15%
20%
School A School B
John studied the charts and made the following statements:
~A. There are more Canna plants in School A then in School B.
B. The percentage of Mango Trées in School A is less than that in School B.
C. School A has more variety of plants than School B~
D. There are more Bird's Nest Fern than Water Hyacinth in Schooi B.




Timothy left three blocks of glass in three Rooms A, B and C of different
temperatures for an hour. Thereafter, they are removed and left in Room D.
Afler 5 minutes, he noticed water droplets on the block from Room A but not

from Room B or C.

Room A Room B Room C
D/Glass block D/G]ass block iYGlass block
Water - ARo_om D

droplets Glass blocks

Which statement best describes the temperature of the room(s)?

(M) Room A is the coldest room.

(2)‘ . Room B and C are at the same temperature as Roomn D.

(3) Room D is the warmest room.

(4) Room B and C are the warmest room.

Which of the following statements is true about the Sun?

(1) ltisa ‘very hot solid object.

(2) it has planets revolving around it.

(3) It is one of the stars in our solar system.

(4)  Itis smaller than planet Earth.
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John attaches two identical deflated balloons at each end of a rod. He ties a
string at the centre of the rod and it balances as shown in the diagram below.

[

) b

He then inflates one of the balloons andrthe rod now tilts to the rght as shown
in the diagram below.

What can he conclude from his experiment?

(1)
2)
(3)
4

Air has mass.
Air can be compressed.
Air has no-definite shape.

The mass of the balloon depends on its shape.

One of the reasons that the Earth is able to support a diversity of life is

because it

(1) is the planet nearest to the Sun

(2) reflects sunlight to the Moon

(3) takes 24 hours to make one rotation about its axis
(4)

has an atmosphere that is appropriate for living things to survive



11 John looked up into the sky one night and noticed the shape of the moon.
The photograph below shows the moon that he observed.

Aften2 weeks, which of the following phases of the moon (1, 2, 3 or 4) will he
see?

0] (2) Q) @

12 The diagram below shows the three properties of substance X.

Does not have a X
definite shape

Has mass

Occupies
space

Substance X could be

(1) milk or ice.
{(2)  sound or oxygen.
(3} water or nitrogen.

(4)  rubber band or nitrogen.
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The table below shows some facts about the planets W, X, Y and Z in the

solar system.

Planet Length of Day Length of Year |.
(Earth hours) (Earth days) |
w 11 10756
X 5832 295
Y 25 687
Z 10 4330

Which statement about these four planets is true?

(1) Planet Z rotates the slowest about its axis.

() Planet X is the furthest pianetr.frpm the Sun.

(3)  Planel X is nearer to Planet 'Y than to Planet W.

(4) Planet W tal_(es the shortest ﬁme to make one revolution arqund the

Sun.

Boon Wee looked through a microscope to study the struclure of a cell. He
made a drawing of the cell as shown below.

(1)  Itis an animal cell as it has a nucleus.

-~ Which of the following statements about the cell is true?

(2) Itis an animal cell as it has irregular shape.

(3) ltis a plant cell as it has cell wall.

(4) Itis aplant cell as it has a thick cell membrane.




13

16

in the flowchart below, A, B and C represent 3 different organisms.

[sten

Y

Is it a single-celt No
: — A
organism?

Yes

Does it
reproduce by
budding?
lYes '

Cc

No B

Which of the following options is true of organism A, B and C?.

A B 1 c
(1) Amoeba Cheek Cell . Yeast
1@ Cheek Cell [ Amoeba Yeast
(3) Yeast Amoeba Cheek Cell
(@) Cheek Cell Yeast Amoeba

Which of the following about the male reproductive cell in the human body---.

are correct?

(1
@)
(3)
(4)

It has a nucleus.

A

B It is produced in the penis.

C tis the largest cell in the human body.
D it fuses with an egg during fertilisation.
A and D only

A and C only

A, B and D only

B, C and D only
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Which of the foliowing statements about reproduction in animals are correct?

Sperms are produced by male animals.
Usually one egg is fertilised by many sperms.
After fertilisation, the eggs will develop into young animals.

oow>

(1) AandBonly
(2) ¢ Aand C only
(3) BandDonly
(4) A, CandDonly

The diagram below shows a family tree.

&
KEY
@ men who do not go baid (A'_

, ] _
\;glr;zn “\::ose hak does o - ,
men who go bald _ ‘ | ‘ |
g women whose haif goes @ .@@ :
thin '

Based on the above family tree, which one.of the following can be inferred?
(1)  If the father of a family is bald, his son(s) will be bald.
(2) Women whose hair goes thin will produce sons who will go bald.

(3) Women whose hair goes thin are able to produce more children.

(4) Fathers with bald heads will produce daughters with hair that will go

thin.

10

Fertilisation only takes place inside the body of ferale animals.

i



19 Rahim wanted to carry out an experiment to find out how the length of the
wing-like structure of a fruit affects the distance it travelled. He used three
similar shorea fruits. Shorea fruit A was left intact. Shorea fruit B and C had
their wing-like structures cut away as shown in the diagram.

Each of the three fruits was then released in front of a fan-as shown in the
diagram below. '

Which of the following observations did Rahim have to record for his
experiment? '
(1)  Mass of each shorea fruit.
(2) Height at which the chorea fruit was dropped.
‘,. : {(3) Time taken for the shorea fruit to stay in the air.

{4 Distance between the starting point and the landing point of the fruit.



20 Keith wanted to

test if bees are attracted to the colour of flowers. Which of the

following pairs of flowers should he use for his test?

("
white white tulip
daisy with —| ——  with no
nectar nectar
(2)
red daisy red tulip
nectar Hédéf
(3)
white tulip red tulip
with no — with
neclar nectar
(4)
white red daisy
daisy with—{ L with no
no nectar nectar
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The diagram below shows two different flowers.

Flower A

Which one of the following statements about flowers A and B is false?.

(2)  Both flowers have an ovary each.
(3) Both flowers cannot grow into fruits.

(4)  Poliination can take place in both flowers.

-(1)  Only flower A has anthers.

Fiower B

Edward classified some of the fruits and seeds in the table below.

L.

P Q
Shorea Papaya
Lalang Rambutan

Which of the following fruits or seeds would Edward place under P and 7

P “Q _‘
4] Chermry Coconut
(2) ' Nipah Lovegrass
3) African Tulip Balsam
(4 Angsana Mimosa
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The diagram below shows a potato plant.

What is/are the functioni(s) of the part marked X?

(1)
2)
(3}
(4)

A To store food for the plant

B . To take in water for the plant

C To hold the plant firmly to the ground
A only

A and C only

B and C only

A, Band C

In what way is sexual reproduction similar in plants and animals?

(M
@)
(3)
4

Fertilisation takes place in the ovary.

Both plants and animals require male and female sex cells. .

The eggs are released from the ovules in both plants and animals.
- The nucleus in pollen grain fuses with the egg in both plants and

animals.

qt -



25 Richard had tweo aquariums, A and B, each containing a different type of plant
as shown in the diagramis below. Both aquariums were left under a light
source for ten hours. The amount of dissolved oxygen in each aguarium was
measured at the start of the experiment and at the end.

Aguarium A AquariumB

light source

-

—_— 3000 cm? of -—
tap water

RS %\W\W\&Nﬁ“\&\\\\m‘&%\%\m\\&

oxygen measuring
device

table

500 cm® of soil

What was the aim of the experiment?

(1)
(@)
)
(4)

To find out how does the light affects the rate of photosynthesis.

To find out whether carbon dioxide is given out during photosynthesis.

To find out whether one plant has a faster rate of photosynthesis than
the other.

To find out how the different amount of dissolved oxygen affects the
rate of photosynthesis. '

26-  Which of the following shows the correct sequence of reproduction of a
flowering plant?

/'

() fertilisation (2) fertifisation
e ™\ g N
= pollmatlon seed dispersal  seed dispersal pollination
\ germination / \ germination /
(3) / fertilisation \ /y fertilisation
™
germination pollination  germination seed dispersal

\.2
\§

\ pollination

seed dispersal
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Ravi poured 350cm® of water into each of the four glass containers. The
containers were left in the open with their top exposed. Which of the
containers below would have the least amount of water left after a fevw hours?

(1)

(3)

(4)

Which of the following statementi(s) about exhaled air is/are correct?

(1
(2)
(3)
(4)

A It has more carbon dioxide than oxygen.
B It has less waler vapour than inhaled air.
C it is usually warmer than the surrounding air.

C only

A and B only

A and C only
A, B and C only

W



29 John was studying the rate of cooling of warm water. He left a beaker of
warm water in a room for two hours. Which of the following graphs shows the
correct femperature change?

(1) (2)
Termperature Temperature
{°C) (°C)
1 1
100+ 1004
0 1 2 Time() o 1 2 Tme()
(3) - 4)
Temperature Temperature
0 (°C)
100 4 1004+
0 1 Tirne (h) 0 1 2 Time(h)

30 Jonathan cut a fruit and observed that it contained many seeds. Which one of
the following inferences is best supported by Jonathan’s observation?

{1}  Only one pollen grain fertilised the flower.

(2)

The flower that produced this fruit grew in bunches.

(3) There were many ovules present in the flower’s ovary.

- (4)  The anthers of flower produced many pollen grains.

17
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PART il
For questions 31 to 46, write your answers in this booklet.
The number of marks available is shown in brackets [ ] at the end of each

question or part question.
| (40 marks)

31  The diagram below shows the direction of the Sun’s rays shining on the Earth.
Sum’s
rays z‘

(2) On the above diagram, shade the region of the Earth that
experiences night time. i1

{b) The diagram below shows a satellite launched into space o study
a region X on Earth. '

In order for the satellite to study region X all the time, explain how
the satellite should move in terms of its revolution around the Earth
with respect to the Earih's rotation? [1]




32  The photographs below show a cell undergoing a process.

First generation

(a) What process is the cell undergoing? 1
(b) State one reason why it is necessary for cells to go through this []
process.
(c) How many cells will there be in the second generation? - i1
33 Study the classification chart carefully.
Properties of
Materials
Can be Cannot be
scratched easily scratched easily
1 l I
Floats on Sinks in Fioats on " Sinks in
water waler water water
]
A B D
{a) What are the characteristics of object A? i1l
(b) In the diagram, the letter represents an iron nail. (11

e



24 - Jason took a glass of ice cubes from the freezer and heated the ice cubes
until boiling occurred. He turned off the fire and left the contents in the glass to
cool 1o room temperature. He measured the temperature of the contents in

~ the glass at 2-minute intervals for 40 minutes and plotted the graph as shown
below. '

- Temperature / °C
F 3

2

A B

—» Time ! min
-0 4 8 12 16 20 24 28 32 36 40

(a) From th@graph, determine the room temperature. (1

".(b) Heat is continuously being transferred between the contents in the 2]
glass and its surroundings during the 40 minutes. Détermine the
overall heat exchange at each of these sections of the graph: AB,

BC, CD and DE. Tick (v') the appropriate boxes in the table below.

Heat lost Heat gained T:ST;??@E;;Z’
AB
BC
g Cb
bE




35  David fully filled up three identical syringes A, B and C with three different

substances.
Syringe B Syringe C
Syringa A (flled with {filled with
(ﬁlled with air) mugh Syrup) Compaded

powder)

Plunger Plunger

Nozzle
seal
completely

Nozzie
sealed
completely

The nozzles of the syringes were sealed completely. He then tried to
push the syringe’s plunger inwards as far as he could.

(a) Why should the nozzles of the syringes be sealed completely? in
(b) Which-plunger (A, B or C) can be pushed in easily? in
(c) Explain your answer to part'(i):); (1]

36 Fill in each blank with a suitable word.

The Solar System is made up of the , the Moon, the [2}

Earth and other . The Moon is a natural

of the Earth. One of the reasons_why living things

can survive on Earth is due to its from the

Sun.

S



37  The following graph shows the amount of rainfall over a period of 12 months
in a certain place.

Rainfall in mm

70

60
50

40
30

201
10

0 Month.of the year

Jan
Feb
Mar

Lo
(o R
<

'May

)]
>
<

Jun
Jul
Sep

QOct
Nov
Dec

Put a tick () in the appropnate column against each of the statements below.

2]

N Not
True |. False possible
to tell

(a) June is the driest month of the year.

(b} The weftest day of the year falls in
December.

(c) The amount of rainfall is the same for
three of the months.

{d)" The first half of the year is wetter than
the second half.




38 - Samuel conducted an experiment and the procedures are shown below.

Step 1:

Step 2:

Step 3:

Step 4:

Step 5:

Obtain three different kinds of bread of the same size:
i Chocolate flavoured bread
it Milk bread
ii. Wheal bread

Place all three pieces of bread in three different comers
of the same room.

- Shine a very bright table lamp on the chocolate
flavoured bread.

- Shine a very dim table lamp on the milk bread.
- Do not shine any light on the wheat bread.

Switch off the ceiling light in the room (leaving only both
table lamps switched on).

Examine the bread after ten days.

At the end of the experiment, he found that the wheat bread had the most
amount of mould growing on it. He concluded that the amount of light
affected the rate of growth of mould on bread.

{a) Explain why this experiment was not a fair one. i 1
(b) What is the aiin of the experiment? = [1]
(c) Name one factor that was kept constant during the experiment. [1]

\ﬁ;o



39  The diagram below shows part of the water cycle.

Rain

Water

Clouds

e

(a)

(b)

~

Water vapour

Draw in the missing arrow heads ( = ) to show the correclorder of
the water cycle. [11

Name the missing processes in the water cycle in the boxes
provided. o (2]

40 The diagrams below show the male and female human reproductive systems.

"

Front view of the male reproductive | Front view of the female reproductive

(a)

(b)

of

sysiem system

On each of the diagram, shade the parts that produce the {2]
reproductive cells.

On the correct diagram,:imark a cross ‘X' at the place where a [1]
young develops. '




41 Mei Wen wanted to find out whether plants take in oxygen and give out
carbon dioxide during respiration. She covered a potted plant with a black
cardboard box as shown below and left the setup aside for ten hours.

- black cardboard box

— plastic bag
—— potted plant

The table below shows the percentage of the different gases in the box which
she had taken at two different times of the experiment.

; Percentage of gases measured

Type of gas At start of experiment At end of experiment |
Oxygen ' 21% 18%
Nitrogen 78% ) 78%
Carbon dioxide v 0.5% - 3.5%

(a) What can Mei Wen conclude from_her experiment?

(1]

{b) . i Mei Wen were 1o set up a control experithént, put a tick (¥ ) in
1he appropriate column fo indicate if she requires the variables

listed below for the experiment.

2]

Variable Yes, No
) - Plant
i0) Soil

. Pot covered with
""!] plastic bag

W) | Black cardboard box

i




42  Below are four methods (A, B, C and D) of water conservation.

L& | Do not build factories near reservoirs.

Repair any tap water leakage immediately.

: Z// Treat sewage waler before discharging it into rivers and seas.

/Ef Recycle water for uses such as flushing and cleaning toilets.

The graphic organiser below classifies these methods of water
conservation into two groups. Complete the organizer by fiiling in the
bubbles with the letters A, B, C and D.

Conserving
Water

Controlling
Poliution

43  Study the living organisms shown below.

—~—

L Bredd mould M6ss St’gg,h{zf sfem Mpr,s}fc;om

(a) Classify the living organisms inio two groups, A and B, such-that
there are two organisms in each group.

Group A Group B

(b) Explain how you have classified the living organisms.

2]

i

-



45

There was only one adult banana plant growing in Mr Ng's garden. A few
months later, Mr Ng noticed that a young banana pfant has grown beside the
adult plant even though he did not plant it. No bananas have grown on the
adult tree so far,

(a) Explain how the young banana plant managed to grow in the-
garden even though no one planted it. _ (11

(b) Mr Ng observed that the adult banana plant died after a few weeks.
How will the death of the adult banana plant be advantageous to
the young banana plant? i1

The diagram below shows a container. that has collected some rain water over
a few days.

container

rainwater

The container was covered with a lid and a week later, mosqu:toes canbe
found inside the beaker as shown below.

lid

mosquito'

-How do you think the mosquitoes got in the beaker if the lid was not

removed at all? ' , 2]




46 Joshua carried out an experiment on the germination of a red bean plant as
shown below.

He plotted a graph to show changes in the mass of the seed leaf and the shoot
over a period of eight days as shown below. '
Mas:s {3}

- Time {days)
0 2 4 .6 8
(@) Which curve, P or Q, shows how the mass of the seed leaf changes
during the experiment? {1

{b) What would happen to the shoot if there were no sunlight for the first
eight days? il

" (¢) How didtHe shoot get its food from the eighth day onwards? i1

End of Péper

w:



ACS Primary School
Primary 5 Science SAT Exams (2007)

| Am’wet Keys

SECTION A : (60 MARKS)

Qn no. Ans Qn>n04 Ans Qn no. Ans
| 4 1 11 4 21 3
2 4 12 3 22 4
3 1 13 3 23 2
4 2 14 3 24 2
5 i 15 2 25 3
6 4 16 1 26 1
7 i 17 2 27 1
8 2 18 2 28 1
9 1 19 4 29 4
10 4 20 4 30 3
SECTION B (40 MARKS)
31a.
31b. The satellite should revolve around the Earth faster than the Earth’s rotation.
32a. Cell division.
32h. It is to replace old and damage cells.
32e. 4 cells.
33a. Object A can be scratcbed easily and it floats on water.
33b. D
34da. 25° C
34b. AB = Heat gained
BC = Heat gained
CD = Heat gained
DE = Heat lost
35a. To prevent the substances from coming out.
35b. Plunger A.
3Se. Air can be compressed.
36. Sun, planets, satellite, distance.

Page 1of 3



37a.
37b.
37¢.
374d.

38a.
38b.
33c.

39(i)
39(ii)

40a

41a

41b(i)
(i)
(iii)
(iv)

42.

43a.

43b,
44a.
44b.

45,

46a.
46b.
46¢.

True
Not

True
False

The type of bread used is different.
To find out if bread without light or bread with light has most mould.
Temperature/Humidity

Condensation
Evaporation

'LFront view of the male reproductive

__ system’
(a)
Plants take in carbon dioxide and give out oxygen.
No
Yes
Yes
Yes
AC,D.B
Group A = Moss, stag horn’s fern
Group B = Muashroom, Bread mould

Organisms in Group A are plants but organisms in Group B are fungi.

The dispersal from the adult plant,
The adult banana plant and the young banana plant are fighting for sunlight and
water.

When it rains the mosquitoes breed in the container, so the mosquitoes are in the
container, even thongh the lid was not removed.

Curve Q

The shoot wouid continue to germinate.
It will have leaves for the plants to photosynthesize.
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